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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1. Read the following.

My neighbor considers himself the of animal rights in our city.

Which answer BEST fits the gap above?

protect

X| protector

protected

protection

2. Read the following.

The parking facilities are -adequate for such busy shopping center.

Which answer BEST fits the gap above?

X | in_

3. Read the following.

The runner was warned because he and started running before the start time.

Which answer BEST fits the gap above?

X | jumped the gun

skated on thin ice

was saved by the bell

kept his head above water

Grade 12  2023/2024 (Use of Language ) pg. 2
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4, Read the following.

You can’t enter any classroom during the class without

Which answer BEST fits the gap above?

trace

delay

exception

X | permission

5. Read the following.

Make sure you change your passwords regularly in order to prevent from
stealing your personal data.

Which answer BEST fits the gap above?

vandals

X | hackers

murderers

shoplifters

6. Read the following.

The new traffic law for our city will come starting from next month.

Which answer BEST fits the gap above?

of age

to terms

in handy

X | into effect

Grade 12  2023/2024 (Use of Language ) pg. 3
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7. Read the following.

The new manager has a great sense of leader and responsibility.
Which answer BEST fits the gap above?

-less
X | -ship

-dom

-hood

8. Read the following.

Salma bought the jacket nor the gloves because she did not really need them.
Which answer BEST fits the gap above?

both

none

either
X | neither

9. Read the following.

I think it was Mr. Jack car was damaged in the accident.

Which answer BEST fits the gap above?

whom

which

where

X| whose

Grade 12  2023/2024 (Use of Language ) pg. 4
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10. | Read the following.
He has written some articles on the subject, but hardly of them is worth reading.
Which answer BEST fits the gap above?

X| any

little

much

many

11. | Read the following.
to call a taxi to go to the airport. He will give us a lift.

Dad says that we
Which answer BEST fits the gap above?

couldn’t have

X| don’t have

shouldn’t

mustn’t

12. | Read the following.
Salim to the party. | really missed him yesterday.

| wish |

Which answer BEST fits the gap above?

invite

invited

X | had invited

would invite

pg. 5
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13. 13.1 Fill in the gaps with words from the list below: (There is one extra word.)

locked up / wisdom / endangered / misleading / found out / footprint

A. | was tricked by that misleading sdvertisement and paid twice as much for the ticket.
B. Before my brother went off to university, my father gave him a few words of wisdom

C. The thief was arrested at last and __locked up for three days.

D. Excuse me, can you explain the meaning of a person’s carbon footprint

found out

E. Ittook the police two months until they the man was innocent.

13.2 | Fill in the gaps with prepositions from the list below: (There is one extra preposition).

from /in/to /on /up / of / with

A. |asked Tom to stop playing tricks __©on his friends as he can be so annoying
sometimes.

B. |could finally clear 4P the misunderstanding between my aunt and her best friend.

C. Speeding may result in more accidents on the road.

D. Scientists warn that too much fast food can lead __ serious health problems.

E. The police are looking for a dangerous criminal who escaped from prison two days ago.

Grade 12  2023/2024 (Use of Language ) pg. 6
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13.3 | Do as shown in brackets.
A. Rewrite the following sentences using the words given.
1. Itisagood idea that Hassan consults a doctor about his severe headache (had better)
Hassan had better consult a doctor about his sever headache.
(can’t have)

| am sure you did not fix the car. The car engine is still making noise.

2.
can't have fixed the car.

You
B. Read the situation below and write a CONDITIONAL SENTENCE.

Sami did not follow my advice, so he did not pass the interview.

3.
had followed my advice, he would have passed the interview.

If Sami
C. Put the following sentences in the PASSIVE FORM
4. They are spraying colourful paints all over the house walls.

Colourful paints _are being sprayed all over the house walls.

5. People believe that the French goalkeeper is responsible for the loss of the final match against

Argentina.
is believed that the French goalkeeper is responsible for the loss of the final match against Argentina.

It

Join the following sentence using the given RELATIVE PRONOUN.
(which)

D.
6. The burglars got rid of the car. It was used during the bank robbery yesterday.

The burglars got rid of the car which used during the bank robbery yesterday.

16
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1. Read the following.

Cutting down the old forest was an act of
Which answer BEST fits the gap above?

burglary

X | vandalism

robbery

shoplifting

2. Read the following.

Severe damage witnessed the force of the storm.

Which answer BEST fits the gap above?

destruction

X| destructive

destroyer

destroy

3. Read the following.

Although I've been out of a job for three months, I've managed to

Which answer BEST fits the gap above?

X| keep my head above water

try as hard as possible

show him the ropes

Skate on thin ice

Grade 12  2023/2024 (Use of Language ) pg. 8
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Read the following.

into the sea.

4.
The factory had accidentally released a quantity of

acid rain

X| toxic waste

illegal logging

carbon footprint

Which answer BEST fits the gap above?

Read the following.
I had no idea that pollution and building factories are related. Oh well, you

life or death

loud and clear

X | live and learn

short and sweet

Read the following.

Which answer BEST fits the gap above?

6.
Change your life today. Don't gamble on the future, act now,

without fail

without warning

X | without delay

Which answer BEST fits the gap above?

without permission

pg. 9
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7. Read the following.

We -calculated how long it would take to get there.

Which answer BEST fits the gap above?

ir-

in-
X | mis-

under-

8. Read the following.

The patient's heart stopped beating for seconds.

Which answer BEST fits the gap above?

X| afew

a little

much

alot

9. Read the following.

The accident much worse; luckily no harm was done.

Which answer BEST fits the gap above?

should have been

X| could have been

must be

can’t be

Grade 12 2023/2024 (Use of Language ) pg. 10
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10. | Read the following.
Hamad wishes his best colleague the exam before the time passed.
Which answer BEST fits the gap above?
X| had finished
would finish
could finish
finished
11. | Read the following.
She's the student handwriting is the best in my class.

Which answer BEST fits the gap above?

which

whom

who

X| whose

12. | Read the following.
also her brother loves skating.

Not only Ali
Which answer BEST fits the gap above?

or

X| but

nor

and

pg. 11
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13. [ 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

hardship / trial / disapprove / downpour / burglars / without exception

A. Animal conservationists __ disapprove of experimenting on animals.

B They say we need more rain because most of the __downpour will
" run down the rivers to the sea.

C. His life was touched by hardship and personal tragedy.

b Without exception ;|| employees must carry their identity card with
" them at all times.

E. They learned to farm the land through trial and error.

13.2 | Fill in the gaps with prepositions from the list below: (There is one extra preposition).

in/ with/ into/on

A. One of my friends tricked me into giving wrong directions
to me so | got to the hospital late

B. They're going to charge him with dangerous driving.

C. This autumn, 6000 residents will participate in the first
phase of the project.

Grade 12 2023/2024 (Use of Language ) pg. 12
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13.3 | Do as shown in brackets.
A. Rewrite the following sentences using the MODALS in brackets: (1 M)
The little boy was lucky he didn’t break his leg when he fell off his bike. (could)
The little boy could have broken his leg when he fell off the bike.
B. Rewrite the following sentence in the CONDITIONAL FORM: (2 M)
(1)

He didn't win the race because he fell over.

If he hadn't fallen over, he would have won the race.

Change the following sentences from active into passive voice: (1 M)

C.
The government will have constructed new projects by the end of next year.

The new projects will have been constructed by the end of the year.

Correct the verbs in brackets: (2 M)
take) is being taken these days to be ready

1. The plan of our near future projects (

for any changes.
more time, | would have finished my homework.

had had

2. If I (have)
Rewrite the following sentences using the words given in brackets: (2 M)
(whose)

1. John doesn't watch films. His best friend is an actor.
Jon. whose best friend is an actor, doesn't watch movies.

2. Maryam and Shamma don’t have their breakfast at restaurants so they will stay at
(neither .... nor)

home.
Neither Maryam nor Shamma has their breakfast at the restaurant, so they will stay at

home.

16
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

The students planned to meet a to discuss the effects of

toxic waste on the environment.

Which of the following BEST fits the above gap?

|:| conserve

|:| conserved
|:| conservation

E conservationist

2 Read the following.

Several practical suggestions were rejected by the general

manager.

Which of the following BEST fits the above gap?

Grade 12 2023/2024 (Use of Language ) pg. 14
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3 Read the following.
She's by constantly borrowing money without plans to pay it
back.

Which of the following BEST fits the above gap?
| skating on thin ice
[ ] sgetting the ball rolling
D going the full distance
D keeping her head above water

4 Read the following.
A committee will the complaints submitted by the
workers last week.
Which of the following BEST fits the above gap?
[ ] Invest
[ ] solve
[ ] manage
] investigate

5 Read the following.
you can’t enter any classroom during the class without
Which of the following BEST fits the above gap?
[[] trace
[ ] delay
[ ] exception
permission

Grade 12 2023/2024 (Use of Language ) pg. 15
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Read the following.
6
The lecture was short and and none of the students got
bored.

Which of the following BEST fits the above gap?

D clear
[] neat
[] tidy

X] sweet
7 Read the following.
have brought your heavy

The weather wasn’t too cold. You

coat.

Which of the following BEST fits the above gap?

[[] mustnt
X| needn’t
[[] couldn’t
[] wouldn’t

Read the following.
Salim to the party. | really missed him yesterday.

| wish |

Which of the following BEST fits the above gap?

[] invite
[ ] Invited

] had invited
[ ] would invite

pg. 16
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9 Read the following.
let’s make sure that all delayed work by the end of this year.

Which of the following BEST fits the above gap?

[ ] hasfinished
D had been finished
[ ] will have finished

E will have been finished

10 Read the following.
| wonder car this is! It has been here for a long time

Which of the following BEST fits the above gap?

[ ] who

[ ] which
] whose
[ ] where

11 Read the following.

Could you give me assistance with this task?

Which of the following BEST fits the above gap?

] any
X] some
[] little

[ ] Plenty

Grade 12 2023/2024 (Use of Language ) pg. 17
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12 Read the following.
All the students studied very well, but of them got the full mark.

Which of the following BEST fits the above gap?

[ ] both

. X| none
[] either
[ ] neither

Fill in the gaps with words from the list below: (There is one extra word.)

13 13.1

Innocent / downpour /attempt / misleading / guilty / fiber
and was put behind bars.

guilty

A. In the end, the suspect was found
fibre and vitamins.

B. Fresh fruit and vegetables provide
impression.

misleading

C. Advertisements mustn’t create a/an
downbour

D. During the hike, we got caught in a sudden
to climb the tree, but couldn’t reach the top .

attempt

E. She made a/ an
Fill in the gaps with prepositions from the list below: (There is one extra preposit‘ion)

13.2

into/ off /up / for

A. He blamed his friend __for not coming to the party.
the misunderstanding between my aunt and her best friend

up

B. | could finally clear
believing that she needed money.

into
pg. 18

C. she tried to deceive the old woman
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Do as shown in the brackets.

13.3
A. Write the verbs in brackets in the PASSIVE VOICE.

1. The trees (water) were being watered when we reached the garden last night.

2. New roads and bridges (construct) have been constructed;, 11,0 ity recently.

B. Rewrite the following sentence using the words given.
I won’t go with you to France this summer because | don’t have enough money. (If)

3.

I had enough money, | would go to France this summer.
(If only)

If
4.1 am truly upset because the children are shouting.

the children wouldn't be shouting / weren't shouting .

If only
(could)

5. The little boy was lucky he didn’t break his leg when he fell off his bike.

The little boy could have broken his leg when he fell off his bike.
(have to)

6. It is compulsory that all employees arrive early to work daily.

All employees have to arrive early to work daily.

7. the secretary didn’t set the time as well as the place for the next meeting
( neither -nor)

The secretary set neither the time nor the place for the next meeting.

C. Join the following sentences using the given RELATIVE PRONOUN.
(who)

8. 1 phoned a customer yesterday. He was completely angry.

The customer, whom | phoned yesterday, was completely angry.

pg. 19
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Use of Language

Directions:

In this part of the test, you will answer 12 vocabulary and grammar questions.

Read the following.

Most of today's traffic accidents are

if drivers are more careful.

Which of the following BEST fits the above gap?

[ ] prevent

[ ] prevented
[ ] preventive

g preventable

Read the following.

I strongly -approve of students wasting most of their time

on video games and social media sites.

Which of the following BEST fits the above gap?

un-

[]

dis-

mis-

[]
[]

Grade 12

2023/2024 (Use of Language )
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3 Read the following.
Children in Gaza feel terribly by the constant air strikes and
shelling.

Which of the following BEST fits the above gap?

D threat

D threaten
|Z| threatened

[ | threatening

4 Read the following.

Salem is certainly when he goes mount-climbing without
proper safety gear.

Which of the following BEST fits the above gap?

|:| going full distance
|X skating on thin ice
[ ] getting the ball rolling

|:| keeping his head above water

5 Read the following.

All suspects were let as the police did not have conclusive evidence

against them

Which of the following BEST fits the above gap?

| off
[] into
(] away
[] down
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6

Read the following.

Endangered animals could disappear

stopped.

if conservational efforts

Which of the following BEST fits the above gap?

| forgood
|:| for nothing

|:| for the best

|:| for a change

Read the following.

It was almost impossible for the police investigators to find out the robbers since

they disappeared

Which of the following BEST fits the above gap?

|:| without fail
|X| without trace
[ ] without permission

|:| without knowledge

Read the following.

| the report on time, but unfortunately, | did not. | was too busy.

Which of the following BEST fits the above gap?

[ ] may have finished
|:| must have finished
X] could have finished

[ ] might have finished

Grade 12 2023/2024 (Use of Language )
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9 Read the following.

Although we have some sandwiches for the guests, we still need more

for the organizers.

Which of the following BEST fits the above gap?

[] little

K] afew
[ ] much
[] alittle

10 Read the following.

If only my brother my mobile phone without permission!

Which of the following BEST fits the above gap?

[] can’tuse
|:| don’t use

|:| couldn’t use

g wouldn't use

11 Read the following.

The little girl was shocked by her brother's outrageous reaction

couldn't say anything.

Which of the following BEST fits the above gap?

5 who
[ ] which
[] whom
[] whose
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12 | Read the following.

| must admit that | love my parents equally.

Which of the following BEST fits the above gap?

[] all

D neither

13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

accused / logging / blizzard / charged / vandals / effect

A. During the protests, many of the shops and public properties were damaged by the
vandals

B. Illegal logging is the main cause of deforestation.
C. As the new traffic laws are to come into  effect next month, | think we can drive a bit

faster right now.
D. Having found a gun in their flat, the police _charged the two young men with murder.
E. After the _ blizzard  had ended, all the city streets were blocked with huge piles of

SNOW.

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

to /with/in/on /by

A. Don't forget to bring light torches when we go camping; they will surely come _in handy.

B. The young woman was tricked BY  the thief who stole her handbag.

to

C. The burglar was arrested and sentenced five years in prison.

D. Your overall fitness level depends mainly on how much exercise you do.
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13.3 | Do as shown in the brackets.

A. |called the police, and they arrested the robbers. (Rewrite using: "If ")

If | hadn't called the police, they would have arrested the robbers.

B. I|could not pay off all my debts because I did not have enough money.
(Rewrite using: "wish")

I wish | had had enough money, | would have paid off all my debts.

k. It is illegal to throw rubbish in the street. (Rewrite using: "must’n't")
You mustn't throw rubbish in the street.

D. A lot of people are currently using recycled bags while shopping.

(change into passive)

Recycled bags are currently being used while shopping.

E. They believed that the manager left the meeting early due to his sickness.

(Rewrite beginning with: The manager)

The manager was believed to have left the meeting early due to his sickness.

F. Salem and Ahmed do not like playing video games. (Rewrite using: Neither....nor)

Neither Salem nor Ahmed likes playing video games.

G. He is such a famous doctor. His son won the gold medal in the essay writing contest.
(Join with: "whose")

He is such a famous doctor whose son won the gold medal in the essay contest.

16
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

They into my neighbor’s house and stole a lot of money.

Which of the following BEST fits the above gap?

E broke
D hacked

[ ] shoplifted
D Kidnapped
2 Read the following.

___developed country is a country characterized by poor resources.

Which of the following BEST fits the above gap?

Di

X O O O
3

Under_
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3 Read the following.

I'm going to kick the habit of smoking

Which of the following BEST fits the above gap?

| for good
|:| for nothing

|:| for the best

|:| for a charge

4 Read the following.

are used to ensure processed food remains safe and in

good condition

Which of the following BEST fits the above gap?

|:| Additives
I:I Nutritions
I:I Consumers

m Preservatives

5 Read the following.

The team put a lot of into making the competition

effective.

Which of the following BEST fits the above gap?

[ ] experiment
[] attempt
X] effort

D trial
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Read the following.

Sarah managed to assemble the puzzle, but it was missing bits and

leaving some parts incomplete.”

Which of the following BEST fits the above gap?

[ ] death
X] pieces
[ ] errors
[ ] trials

7 Read the following.

Could you pass me sugar?

Which of the following BEST fits the above gap?

(1 any
(] many
[] few
X some

Read the following.

There is any food left in the fridge.

Which of the following BEST fits the above gap?

D hard
(] little

E hardly

[] veryfew

Grade 12 2023/2024 (Use of Language )
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9 Read the following.
If Ali the task, the teacher wouldn’t have punished him
Which of the following BEST fits the above gap?
[ ] finished
had finished
[ ] hasfinished
D have finished
10 Read the following.
There are a lot of public transport so you worry about using a
private car
Which of the following BEST fits the above gap?
E don’t have to
D needn’t have
I:] had better
D must
11 Read the following.
My dad didn’t let me use the laptop at night.
Which of the following BEST fits the passive form of the above sentence?
] 1wasn’t allowed to use the laptop at night.
D | wasn’t allow to use the laptop at night.
D | wasn’t let use the laptop at night.
D | wasn’t used the laptop at night.
Grade 12 2023/2024 (Use of Language ) pg- 29
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12 Read the following.

I'm a fan of horror movies, nor romantic comedies.

Which of the following BEST fits the above gap?

[ ] both

D either
m neither

D but also

12

13

13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

accused — blizzard - commented -overcast

A. The painting shows a small house in a cornfield beneath a dark overcast  sky.
B. Lina _ gccused her prother of lying when asked about the broken desk.

C. You shouldn’t have __ commented on people you didn’t know.

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

for / from/ off/with

A. The police arrested Mr Lowes and charged him__ With theft.

B. The security guard blamed the woman __for  |eaving her children unattended.

C. Because of the cruel nature he escaped _from  donating money.
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13.3 | Do as shown in the brackets.

A. It wasn’t necessary to meet me at the airport yesterday. (Rewrite using needn't.)

You needn't have met me at the airport yesterday.
(Rewrite using passive.)

He knows that the wealth didn’t come over night.

B.
The wealth is known not to have come over night.
Ali came from Carthage last year. Carthage was one of the most important trading

(Rewrite using: From which.)

C.
hubs.
Carthage, from which Ali came last year, was one of the most important trading hubs.

D. We were late for work yesterday morning; so, the boss was very angry with us.
(Rewrite using: If.)

If we haven't been late for work yesterday morning, the boss wouldn't have been angry with us.

E. When my dad came with the gifts, my mom was not happy. She was not surprised either.

(Rewrite using neither.)
When my dad came with the gifts, my mom was neither happy nor surprised.

pg. 31
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

Read the following.

Most students usually the gun and start answering the exam

before reading the instructions.

Which of the following BEST fits the above gap?

[] eet

| jump
[[] Keep
[[] show

Read the following.

Many chefs sugar with honey in healthy sweets.

Which of the following BEST fits the above gap?

[X] combine
[ ] depend
[] relate
[ ] replace

Grade 12 2023/2024 (Use of Language )
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3 Read the following.

Barbaric Israeli soldiers have shot lots of Palestinian children and women
without during Gaza invasion since October.

Which of the following BEST fits the above gap?

[] delay

X] exception
[] fail
D warning

4 Read the following.

After years of the company, my father had to close it down.

Which of the following BEST fits the above gap?

[] misleading
E mismanaging
[ ] miscalculating

[ ] misunderstanding

5 Read the following.

My parents put a lot of onto making their marriage successful.

Which of the following BEST fits the above gap?

[] attempt

| effort

D effect
D trail
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6 Read the following.
For the long time | know Salim, his family comes . He is responsible.
Which of the following BEST fits the above gap?
|:| along
X first
|:| last
D naturally
7 Read the following.
Drivers drive at high speed in towns. It’s dangerous.

Y| can’t
D don’t have to
[ ] maynot
D shouldn’t

Read the following.

Which of the following BEST fits the above gap?

of them | still remember.

8
| have taught so many students, but

| afew

[] alittle
[ ] alot
) any

Which of the following BEST fits the above gap?

pg. 34
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10

11

Read the following.

Ifl enough money, | would have bought a new phone.

Which of the following BEST fits the above gap?

have
had

had had

(1 X [0 O

would have

Read the following.

The house I live was built in 1950.

Which of the following BEST fits the above gap?

| where

which

whom

1 O [

whose

Read the following.

The exam results at the end of the month.

Which of the following BEST fits the above gap?

|:| will announce

[ ] isannouncing

g Will be announced

|:| have been announced

Grade 12 2023/2024 (Use of Language )
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12 Read the following.

You can write on the first or the second topic.

Which of the following BEST fits the above gap?

[ ] both

] either

[ ] neither
[ ] notonly

13

13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

freedom / acid / burglar/ thief

A. They have caught the burglar who broke into the flat at the second floor.

B. Parts of Russia suffered from __ acid rains for a while after the explosion of

Chernobyl.

freedom

C. For most of the people is as important as food and housing.

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

on/ for/ into/ of

A. Hamad tricked Salim___out of  his new mobile phone.

for

B. They wasted most of their time nothing, just wandering in the streets.

C. She insisted on wearing her white wedding dress for the divorce party.

13.3 | A- Use the correct form of the words in brackets to complete the sentences.

A. She felt completely defenceless when the robber stopped her. (defence)

B. Agroup of _environmentalists 3,ght us how to keep our beaches clean. (environment)
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13.3 B- Do as shown between brackets.

A. Ahemed should have gone (should go) to bed earlier last night so he

wouldn’t be tired now. ( Correct the verb)

B. She burnt the food because she spent much time chatting with her friend on the phone

( Use if to give the same meaning)

She wouldn’t have burnt the food if she hadn’t spent much time chatting with her friend on the
phone.

C. Let’s go to the pool. The swimming competition is going to be held there.

(Use where to join the sentences)

Let’s go to the pool where the swimming competition is going to be held.

D. Someone has stolen Hamad’s car from the garage. (Change into passive)

Hamad’s car has been stolen from the garage.

E. Ahmed and Ali don’t like fast food, so they won’t come to the restaurant with us.

(Rewrite the sentence using nor)

e tseither Ahmed nor Al llhes fask S0, ..o ceeroremeuessemmmnnessomsssssoromseressssesesssssmosmmsses

F. They did nothing to save the young animals from hunters.
(Use not to give the same meaning)
.They didn’t do anything to save the young animals from hunters. ...
G. Salim wants to spend the next weekend with his family in Egypt.
(Rewrite the sentence using wishes)
...30lim wishes he could spend the next weekend with his family in Egypt. ..vveevennee.

H. There aren’t a lot of things to see in resorts. (Rewrite the sentence using much)

There.. St much to see in resorts, e ee————————essseaesens
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

It is up to you, Mr. Mahmoud, to accept the job offer, so.....cccccrvruecrunnaenn. now.

Which of the following BEST fits the above gap?

| keep your head above water.
You went the full distance.

| showed you the ropes.

X The ball is in your court.

2 Read the following.

The clever detective solved the case and brought the criminal to ..................

Which of the following BEST fits the above gap?

@ justice
law

observation
[D] court

3 Read the following.

He was found guilty of ...................... into the company’s computer systems.

Which of the following BEST fits the above gap?

X hacking
kidnapping

murdering
[D] stealing
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4 Read the following.
It seems that the ......cceeeevveeevcrerecnneen. of wildlife is dangerously affecting
many European countries.
Which of the following BEST fits the above gap?
pollute
| pollution
polluted
[D] pollutants
5 Read the following.
Marketers want food to look flaw-..........ccccuuu.... just for the photo shoots.
Which of the following BEST fits the above gap?
-ful
-ive
| -less
[D] -ous
6 Read the following.

You can’t imagine the amount of toxic ............ that is dumped into the river.

Which of the following BEST fits the above gap?

erosion
rain
spill

| waste

A
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7 Read the following.

Her new dress is ......cceeeeeeeneeeeecennnee. long nor short; it is the right length.

Which of the following BEST fits the above gap?

both
either

] neither
[D] none

Read the following.

This is the drawer in .........cccueveeneeee | keep my money.

Which of the following BEST fits the above gap?

that
where
| which

[D] whose

9 Read the following.

Thereis very ....coveeeeveeccnnnnees information about the crime that happened
last week.

Which of the following BEST fits the above gap?

a few
a little

few
B little
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10 Read the following.

11

They wouldn’t have dismissed Ali from his job if he ...................... it properly.

Which of the following BEST fits the above gap?

Y| had done
has done

did
[D] does

Read the following.

YOU oreerereeercrennesssneessnnessnns smoke in the hospital. It is against the rules.

Which of the following BEST fits the above gap?

don’t have to
may not

mustn’t
[D] needn’t

12

Read the following.

Let’s make sure that the house ..............cuuaannn....e. by the end of this month.

Which of the following BEST fits the above gap?

is painted
was painted
had been painted

)¥| will have been painted
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13.1 | Fillin the gaps with words from the list below: (There is one extra
word.)
changing / trial / cheating / shortage
; trial
A.Most of us have experienced success after countless rounds of............... and error.
B. The droughts we’ve been experiencing will make the water . Shortage
cheatin . .
C. Two students were accused Of ..o ... in the last English exam.

13.2

Fill in the gaps with prepositions from the list below: (There is one extra
preposition).

out / to J/ with / off

A.Some patients relate their sickness o8O ..the food they eat.

B. The police charged the driver ...... w'th ...... killing the guard of computer company.

C. The detective is determined to find .....covveeeeennnn.... who committed the crime.
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13.3

Do as shown in the brackets.

A. They must do something about the problem of littering in the city.
(Change into passive voice)
Something must be done about the problem of littering in the city.
B. | showed my friend the house. | was born there in 2006.

(Join the two sentences using the relative pronoun (where)

I showed my friend the house where | was born in 2006.

C. Itis advisable for adults to join free training courses.

(Rewrite the sentence using: should)

Adults should join free training courses.

D. | regret not studying harder for the exam.

E. Hassan and Mahmoud didn’t enjoy basketball, so they didn’t come with us.

(Rewrite the two sentences suing: (neither....nor)

Neither Hassan nor Mahmoud enjoyed basketball, so they didn’t come with us.

16

Grade 12 2023/2024 (Use of Language ) pg. 43


user
Typewritten Text
must be done about the problem of littering in the city.

user
Typewritten Text
I showed my friend the house where I was born in 2006.

user
Typewritten Text
 should join free training courses.

user
Typewritten Text
I had studied harder for the exam.

user
Typewritten Text
Neither Hassan nor Mahmoud enjoyed basketball, so they didn’t come with us.


S 2N ‘**.t‘ E

¥ Y ¥ -
& BESTY, & BEST Y
g e 3 § o ¥
g, BEST & Y, BEST &
JJJJ;,»*‘L@& J"JJ:,»*‘LL'-‘ E

& g3l dazea (3 o]

Use of Language |

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

More and more trees are planted to stop erosion.

Which of the following BEST fits the above gap?

X soil

[ ] ozone

[ ] carbon
|:| illegal

2 Read the following.

This organization is working on the of endangered animals.

Which of the following BEST fits the above gap?

|:| conserve
|:| conserved
] conservation

|:| conservationist
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Read the following.

A young man was for violating the traffic signals.

Which of the following BEST fits the above gap?

X] blamed
[ ] escaped

[ ] arrested

|:| sentenced

Read the following.

Don’t throw this box away. It might come

Which of the following BEST fits the above gap?

[] tolight
[] naturally

] inhandy

D Into effect

Read the following.

I don't know if | can get 7.5 in IELTS, but I'll

Which of the following BEST fits the above gap?

[ ] jumpthegun
[ ] skateon thinice
[ ] getthe ball rolling

| give it my best shot

Grade 12
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Read the following.

Dave his dictionary looking for the meaning of new words.

Which of the following BEST fits the above gap?

|:| went off
|:| went ahead
| went through

[ ] wentalong with

7 Read the following.

You sit near the Tv. It is bad for your eyes.

Which of the following BEST fits the above gap?

[[] must
[] should

] shouldn’t

|:| don’t need to

Read the following.

We helped the man car had broken down.

Which of the following BEST fits the above gap?

[] who

[] who's
whose
[ ] whom
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9 Read the following.
| wish | early for the meeting yesterday.

Which of the following BEST fits the above gap?

[[] come
[[] came

| hadcome

D would come

10 Read the following.

| have got very money, so | can’t go shopping.

Which of the following BEST fits the above gap?

[] few
] little
[[] some
[ many

11 Read the following.

She would spend her holiday in the USA if she a visa.

Which of the following BEST fits the above gap?

[] get
got
[] will get

D would get
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12 Read the following.
his father nor his mother came to the parent-teacher meeting.
Which of the following BEST fits the above gap?
[ ] Both
[ ] Either
X] Neither
[ ] Whether
13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)
additives / hacker / burglar/ consequences
A. The security guard stated that the _ Purglar had broken in through a window.
B. This decision could have serious __consequences  fqr the future of the industry.
C. Food additives can cause serious heart diseases and other illnesses.
13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

to / in/ with/for

A. Teenagers must cope with the latest technologies to keep updated.
B. A good education often relates _ to the students' interests.
C. The shortage of rain resulted in the lack of water in the village.
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13.3.1 |Correct the verbs in brackets.
will be published (publish) for the public next week
(listen) to him.

A. The new novel
would have listened

If he had talked to me politely, |

Rewrite the following sentences to give the same meaning.

13.3.2
Scientists believe that the new vaccine will be effective for many diseases.

C.
|t is believed that the new vaccine will be effective for many diseases.

D. I didn’t cook dinner because my husband brought pizza.

my husband hadn't brought pizza, | would have cooked dinner.
(not only)

If
E. Hamad is a talented musician. He is a skilled painter.

Hammad is not only a talented musician but also a skilled painter.

pg. 49
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.
We mourn Palestinian ........................ because we are still human.
Which of the following BEST fits the above gap? /1

|:| guilty
E victims
|:| suspects

|:| innocents

2 Read the following.

These measures will help to reduce .................... caused by wind or rain

Which of the following BEST fits the above gap?

/1
|:| spill
|:| waste
VA erosion
|:| shortage
3 Read the following.
He's by lying to the police.
Which of the following BEST fits the above gap? /1

|:| jumping the gun
PI{ skating on thin ice
D showing himself the ropes

D keeping his head above water
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4 Read the following.
The money will come when | want to travel.
Which of the following BEST fits the above gap? I
D of age
[] toterms
X] in handy
D into effect
5 Read the following.
They launched a week-long campaign to promote energy
Which of the following BEST fits the above gap? n
D conserve
@ conservation
D conservational
D conservationist
6 Read the following.
The judge refused to allow ( _relevant ) questions.
Which of the following BEST fits the above gap? n
D in-
[ ] il
X ir-
D im-
pg. 51
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7 Read the following.

Sightseeing is best done by tour bus or by bicycle.

Which of the following BEST fits the above gap?

|:| none

[ ] both
either
[] neither

/1

Read the following.

The woman was honoured by the government; she a lot of

achievements in her life.

Which of the following BEST fits the above gap? /1

D may have made
|X must have made
|:| can’t have made

|:| should have made

9 Read the following.

If only he to what his friends had been telling him.

Which of the following BEST fits the above gap?

D listen

|:| could listen

/1

|z would listen

D had listened
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10 Read the following.
She went aside for moments.
Which of the following BEST fits the above gap? /1
D few
[ ] ittle
E a few
|:| a little
11 Read the following.
Don't eat that! It's mouldy. It's gone !
Which of the following BEST fits the above gap? N
D on
D in
|:| into
X]  off
12 Read the following.
Most accidental poisonings are
Which of the following BEST fits the above gap? ;
1
|:| prevent
D prevention
D preventive
|Z| preventable
pg. 53
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13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)
/3 publicise / operate/ revitalise / flawless
A. Balanced digestion is important to nourish and __revitalise the body.

B. Her English is almost _flawless

C. It takes three mento  °Perate ipic machine.

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).
into/ with / by /in
A. She's struggling to cope_with _ the heavy workload . /3

B. Don't be misled inte thinking that picture books must be easy to write because there

are so few words.

C. Only members may participate in the discussions.

13.3 | Answer the following questions. /10

A. Rewrite the following sentences using the words given.

1. Ican honestly say that | love reading novels and watching movies equally ( both)
I can honestly say that I love both reading novels and watching movies equally.

2. Itis better to buy a size that is too larger than too small . ( had better)

vYou had better buy a size larger than small .

3. Fadispends hardly any time in the library these days. (little)
Fadi spends very little time in the library these days.
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B. Write the verbs in brackets in the PASSIVE VOICE.

4. A daily intake of vitamin D ( recommend ) was recommended

yesterday .

5. He dislikes ( criticize ) being creiticized  ,, ihore

C. Join the following sentences using the given RELATIVE PRONOUN

by doctor

6. Mary works in our office. Her husband is a civil engineer. ( whose )

Mary, whose husband is a civil engineer , works in our office .

7. | phoned Mr. Tim yesterday . He forgot his car keys in my office .

Mr. Tim , whom | phoned yesterday , forgot his car keys in my office .

( whom)

D. Answer the following questions.

Write the verbs in brackets in the correct form.

8. If | were a school manager, | (take) would take measures to stop bullying

among students .

9. If| __ had known ( know ) your location, | would have helped you .

Do as shown in brackets.

10.1 regret being so rude to my parents when | was young . ( Rewrite using If only)

If only | hadn't been so rude to my parents when | was young.
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Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.
1 Read the following.
The couple set up a 24-hour security camera to trap the scratching
their car.
Which of the following BEST fits the above gap?
[ ] thief
D robber
|:| hacker
m vandal
2 Read the following.
Due to the , air conditioning repair services were in high
demand, with long wait times.
Which of the following BEST fits the above gap?
|:| mist
D frost
x heatwave
|:| thunderstorm
3 Read the following.
She is deaf, but refusestolet her _______ -ability prevent her from doing what
she wants to do.
Which of the following BEST fits the above gap?
|:| in-
[ ] un-
& dis-
|:| mis-
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4 Read the following.

High concentrations of toxic elements were found in the river.

Which of the following BEST fits the above gap?

|X| polluted
|:| polluting
D pollution

D pollutant

5 Read the following.

These changes in the uniform policy will at the start of next year.

Which of the following BEST fits the above gap?

D come first
D come of age
D come to terms

E come into effect

Read the following.

| think this team is good enough to and win the championship,

don't you?

Which of the following BEST fits the above gap?

D skate on thin ice
D get the ball rolling
IE go the full distance

D be saved by the bell
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7 Read the following.

It was a mistake you relied on such a reckless person. You that.

Which of the following BEST fits the above gap?

D mustn't have done

|:| may not have done

shouldn't have done

D might not have done

Read the following.

| wish you playing pranks on other people.

Which of the following BEST fits the above gap?

D stop
D will stop

E would stop

D would have stopped

9 Read the following.

Qatar is a great country efforts to help the needy are
undeniable.

Which of the following BEST fits the above gap?

[ ] who

[ ] which
X] whose
[] where
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10

Read the following.

Staying up late be so harmful to our health.

11

Which of the following BEST fits the above gap?

D is known

IX is known to
D is knowing to

|:| is known that

Read the following.

We interviewed a number of candidates but

12

of them impressed us.

Which of the following BEST fits the above gap?

[ ] al

[ | both
% none
D neither

Read the following.

We have salt left. | will go and buy some.

Which of the following BEST fits the above gap?

no
L] any
|:| much
|:| a little

12
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13 13.1 | Fillin the gaps with words from the list below: (There is one extra word.)
attempt / blame / good/ additives / nothing / membership
card behind.

A. | couldn’t get into The British Council library as | left my _membership
; one should avoid them.

B. Food colouring and flavouring are unhealthy _additives
blame others for your mistakes?

C. Why do you always
good but, sadly, this was not the case.

D. He had thought his cancer was gone for
attempt _ to control the pandemic.

E. The government has taken these measures in a/an

Fill in the gaps with prepositions from the list below: (There is one extra preposition).

13.2
into / with / to / ahead / out
long and happy life.

to

A. A good and healthy diet can lead
with manslaughter.

B. Police have arrested him and charged him

out of the jail by killing two policemen.

C. The prisoners broke
ahead and start your presentation.

D. Whenever you're ready, just go
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13.3 | Do as shown in the brackets.
A. ltis not allowed to take the exam paper out of the classroom. ( /1)
(Rewrite the sentence using “mustn’t”.)

You mustn't take the exam paper out of the classroom.
(/1)

B. There are very few chairs in this room. They are not enough at all.
(Rewrite the sentence using “hardly”.)

There are hardly any chairs in this room. They are not enough at all.
(/1)

C. | met a stranger there. He was asking about the way to the bank.
(Join the two sentences using “whom”.)

The stranger, whom | met there, was asking about the way to the bank.
(—_/1)

D. The company has developed a new product recently.
(Put the sentence in the “passive voice”.)

A new product_has been developed (by the company) recently.
(—/1)

E. Ahmed doesn’t like football. Ali doesn’t like football either.
(Join the two sentences using “neither”.)

Neither Ahmed nor Ali likes football.
(___/2)

We didn't pick you up at the station because you didn't phone us.
(Rewrite the sentence using “If”.)

F.

If you had phoned us, we would have picked you up at the station.
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Use of Language

|_Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

Read the following.

The government should take a strong action against

Which of the following BEST fits the above gap?

|:| pollutant
@ pollution
|:| polluting

D polluted

Read the following.

After the accident, it was difficult for me to the fact that |

became a disabled person.

Which of the following BEST fits the above gap?
[ ] comein handy

[ ] come into effect

[] cometoanend

X] come to terms with
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Read the following.

Deforestation causes soil

Which of the following BEST fits the above gap?
spill

|:| rain

|:| erosion

|:| shortage

Read the following.

All employees, , should come in to work at 9 a.m.

Which of the following BEST fits the above gap?

|:| without trace

|:| without delay
|:| without warning

] without exception

Read the following.

| would like to make sure everything is before | leave for work in

the morning.

Which of the following BEST fits the above gap?

|:| loud and clear
D bits and pieces
m neat and tidy

|:| life or death
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Read the following.

The broke into the house when we were on holiday and stole

my laptop.

Which of the following BEST fits the above gap?

[ ] «kidnapper
X] burglar
D robber
L] thief

Read the following.

She couldn’t come to the party if she a nightshift.

Which of the following BEST fits the above gap?
D would have had

D would have

X] had

D has

Read the following.

Does you want some apple juice?

Which of the following BEST fits the above gap?

[] allof
[ ] bothof

D none of
either of
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Read the following.

My uncle bought the house in

there was a big swimming pool.

10

Which of the following BEST fits the above gap?

D where
X which

D whose
|:| whom

Read the following.

| wish it so much, the streets have turned to puddles.

11

Which of the following BEST fits the above gap?
D didn’t rain
|:| couldn’t rain

ﬂ hadn’t rained

|:| wouldn’t rain

Read the following.

By 2030, many electric cars on Qatari roads.

Which of the following BEST fits the above gap?

D are driven
D were driven
|:| have been driven

& will have been driven

Grade 12 2023/2024 (Use of Language )
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12 Read the following.

| harder for the boxing competition because, unfortunately, |

came second to last.

Which of the following BEST fits the above gap?

|:| must have trained
D might have trained
E should have trained

D needn’t have trained

13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

membership / consequences / results / improper/ preservatives

A. Some food has many added preservatives to make it last longer.

B. Overhunting will have serious consequesnces for many predators — as there

will be less food available.

C. The improper care and unbalanced diet can lead to health problems.

D.Kinda lost her membership  card, so she had to ask at the gym for a new one.

Fill in the gaps with prepositions from the list below: (There is one extra preposition).

through /to /on [ off/ in/with

A. The police arrested Colin and charged him with theft.

B. Everyone should contribute to our country’s welfare.

C. To be successful in your life you should believe in your abilities.

D. Canvyougo _ through the report and tell me if you have any questions?

E. He congratulated her on winning the prestigious award.
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Do as shown in the brackets.
(Use: whose)

133

A. Colin is a good writer. His books are best sellers.

Colin, whose books are best sellers, is a good writer. / Colin is a good writer whose books are best sellers.

Samer missed the bus, so he was late for school.

B.
If Samer hadn’t missed the bus, he wouldn’t have been late for_school.
(Use: needn’t)

It was not necessary to buy a new BMW. Yours was very good.

C.
You needn’t have bought a new BMW.

An excellent plot

Ali is going to bring out his new novel.

(complete)

(Complete)

The people believe that the writer has created an excellent plot.

| didn’t have many friends when | was young.

F.
Ali’s new novel is going to be brought out by Ali.

has been completed

The metro project in Doha

(Use: a few)

(Change into passive voice)

(Use: neither)

(complete) recently. (correct)
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Use of Language

Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

1. Read the following.

| don’t want to and give out my conclusions until | have all the

information required.

Which answer BEST fits the gap above?

X | jump the gun

skate on thin ice

get the ball rolling

go the full distance

2. Read the following.

We always hang out at Aspire Park at the weekends. How about going to Sealine
?

Which answer BEST fits the gap above?

for good

for nothing

X| forachange

for all | know

3. Read the following.

Darren ....ccccceeneereeninennns his neighbour of crashing into his car while parking.

Which answer BEST fits the gap above?

blamed

X| accused

charged

sentenced

Grade 12 2023/2024 (Use of Language ) pg. 68



g‘ BEST 3 § BEST %
%, BEST & %, BEST &
E JJJJ;,*‘L@& E

inyy et

4, Read the following.

Did you hear about Mark Benz? He was arrested in connection with the jewellry shop
that took place on Main Street last night

Which answer BEST fits the gap above?

hacking

X| burglary

kidnapping

shoplifting

5. Read the following.

Wait till | connect the machine from the power supply before you start

repairing it.
Which answer BEST fits the gap above?

in

un

X | dis

6. Read the following.

Statues and buildings in the city centre have been damaged by rain.

Which answer BEST fits the gap above?

soil

X | acid

ozone

carbon

Grade 12 2023/2024 (Use of Language ) pg. 69



S 2N E

S 2N

s 1y 4 Y,

FBESTY, ¢ BEST Y

g, BEST & Y, BEST & s
JJJJ;,»*‘L&‘-& JJJJ:,»*‘L&‘-& E

7. Read the following.

According to recent studies, issues have become more and

more popular these days.

Which answer BEST fits the gap above?

environment

X | environmental

environmentally

environmentalist

8. Read the following.

Ali will inherit the money when he

Which answer BEST fits the gap above?

| comes of age

comes in handy

comes naturally

comes into effect

9. Read the following.

He have been at work yesterday because he told me he would be out of town.

Which answer BEST fits the gap above?

X| can’t

mustn’t

needn’t

shouldn’t
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10. Read the following.

She dedicated time and attention to her studies; that's why she struggled
to pass the exam.

Which answer BEST fits the gap above?

few

a few

X little

a little

11. Read the following.

When | told my dad the news, he was surprised nor upset.

Which answer BEST fits the gap above?

all

both

either

X | neither

12. Read the following.

The new equipment by the technicians in the laboratory at the moment.

Which answer BEST fits the gap above?

is tested

was tested

X | is being tested

was being tested
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13.

13.1 Fill in the gaps with words from the list below: (There is one extra word.)

downpour/ fine / championship / preservatives/ crime

A If you leave your car here for longer than you should, you will have to pay

5 fine
championship
B. Do you think Ali is a good enough player to win the school this year?
C. Some food has many added _Preservatives to make it last longer.

The game was delayed by more than an hour after a(n) _downpour made
the pitch unplayable.

13.2 Fill in the gaps with prepositions from the list below: (There is one extra preposition).

into/ to / off / for / without

13.3

A. That milk has gone __ off . You shouldn’t drink it.

B. Each candidate must answer all the questions _ without exception.

C. Please provide all information relating to the claim.

D. Many advertisements fool people _into  buying things they do not need.

A.

1- It is a good idea for Ahmed to attend lectures in the British Council.

(Rewrite using “had better”)
Ahmed had better attend lectures in the British Council.

2- It was a big mistake not to ask for help when | needed it.

(Rewrite using “ought to have”)
| ought to have asked for help when I needed it.
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3- The movie is boring. That’s why | won't go to the cinema.

(Rewrite using “if”)
-If the movie weren’t boring, | would go to the cinema.

4- | was upset because | lost my new smart phone.
(Rewrite using “wish”)

-] wish I hadn’t lost my new smart phone.

C. Change the following sentences using PASSIVE VOICE:

5- They are going to paint the fence of the old fortress.
The fence of the old fortress is going to be painted .

6- People say that some islands will sink soon because of rising sea levels.
It is said that some islands will sink soon because of rising sea levels.

D.
7- My mum wants to buy cheesecake. She wants to buy fizzy drinks, too.
(Rewrite using “not only”)
My mum wants to buy not only cheesecake but also fizzy drinks.

8- The fast-food restaurant finally shut down. Its profits had been slowly declining.

(Rewrite using “whose”)
The fast-food restaurant, whose profits had been slowly declining, finally shut down.

16
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Use of Language

Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

1 | Read the following.

National parks serve as shelters for wildlife , preserving biodiversity
and providing habitats for endangered species.

Which of the following BEST fits the above gap?
I:I conserve
|X| conservation
I:I conservational

I:I conservationist

2 | Read the following.

The handwriting on the document was so -legible that it took hours
to decipher its contents.

Which of the following BEST fits the above gap?

3 | Read the following.

The team by celebrating their victory before the final whistle blew.

Which of the following BEST fits the above gap?

|:| no sweat

|X| jumped the gun

I:I saved by the bell

I:I kept their head above water

Grade 12 2023/2024 (Use of Language ) pg. 74



S 2N ‘**.t‘ E

¥ Y ¥ -
& BESTY, & BEST Y
g e 3 § o ¥
g, BEST & Y, BEST &
JJJJ;,»*‘L@& J"JJ:,»*‘LL'-‘ E

4 | Read the following.

Students are not allowed to leave the school premises during school hours without
from the principal.

Which of the following BEST fits the above gap?
[ ] fail
I:I delay

I:I knowledge
permission

5 | Read the following.

International cooperation is essential in combating logging, as it
often involves transnational criminal networks.

Which of the following BEST fits the above gap?

illegal

|:| shortage

6 | Read the following.

Keeping a spare set of keys in your bag can come if you accidentally
lock yourself out of the house.

Which of the following BEST fits the above gap?
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7 | Read the following.

from

Local authorities are increasing patrols in the area to prevent
damaging public infrastructure.

Which of the following BEST fits the above gap?

|:| thieves
vandals
|:| burglar
‘:I shoplifter

8 | Read the following.

to bed early last

The house was in complete darkness, so they
night.

Which of the following BEST fits the above gap?

|:| can’t go
|:| mustn’t go
must have gone

|:| needn’t have gone

9 | Read the following.

I don’t have enough money. | wish | enough money to travel to

New York this summer.

Which of the following BEST fits the above gap?

[ ] get

[ ] got

I:' had got
could get
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10 | Read the following.

The man house was robbed has still not been paid by the insurance

company.

Which of the following BEST fits the above gap?

I:I who

I:I whom
I:I where
whose

11| Read the following.

You should stop making up excuses. you study hard or you will fail
in the Math exam tomorrow.

Which of the following BEST fits the above gap?

12 | Read the following.

There are students from my school in this show.

Which of the following BEST fits the above gap?
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13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

court / hardship / championship / neat /[ effect / blizzard

effect on individuals' mental

A. Social media platforms can have a powerful
health, influencing self-esteem and perception of reality.

B. Despite the challenges posed by the blizzard , communities came together to

support one another and face the storm.

C. The classroom was __ neat and tidy, with the students' desks arranged in

rows and the chalkboard clean and ready for the day's lessons.

D. The victim of the scam decided to take the fraudulent company to __ court to
seek justice.
E. The team celebrated their victory in the championship with a parade through the

city streets.

13.2 | Fill in the gaps with prepositions from the list below. (There is one extra preposition)

in / of J/ for / to / into

A. Thousands of home buyers were deceived __into buying homes at inflated prices.

B. Jassim is hoping to participate in the next Olympic Games.

C. When he came __ of age, he took a job selling newspapers at a Brooklyn subway exit.

D. When | give my presentation, | will probably have to refer to my notes.
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13.3 | Answer the following.
A. Rewrite the following sentence using the word given. (1 Mark)
1. There is a possibility of raining this afternoon. (may)
It may rain this afternoon.
B. Read the situation below and write a CONDITIONAL sentence. (2 Marks)
(1f)

| lost my watch and, as a result, we missed our plane when we went on holidays.

2.
If 1 had not lost my watch, we would not have missed our plane when we went on holidays.

C. Join the following sentence using the given RELATIVE PRONOUN. (1 Mark)
(when)

| can’t forget the year 2020. The government decided to close all schools then.

3.
I can't forget the year 2020 when the government decided to close all schools.

D. Write the verbs in brackets in the PASSIVE VOICE. (2 Marks)

has not been delivered

by the courier service as

4. The package (not/deliver)
will have been cooked by the chef.

promised yet.
5. By the time the guests arrive, lunch (cook)

E. Rewrite the following sentence using the word given. (1 Mark)
(both ... and)

6. Adam can play the guitar well and he can compose music well.

Adam can both play the guitar well and compose music well.
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

Dairy products go quickly if they are not kept in the fridge.

Which of the following BEST fits the above gap? (1pt)

[ ] out
off
[]
L]

along

ahead

2 Read the following.

The launched out a public awareness campaign at great
length on energy preservation.

Which of the following BEST fits the above gap? (1pt)

environment
environmental

environmentalists

1 &I O] [

environmentalism
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3 Read the following.
Fresh evidence has recently come which suggests that the

suspect didn't in fact commit the murder.

Which of the following BEST fits the above gap? (1pt)

|:| of age
to light
[] toterm

|:| into effect

4 Read the following.

It must be difficult for her to with three small children and
a job.

Which of the following BEST fits the above gap? (1pt)

X| cope
|:| relate
|:| interact

D contribute

5 Read the following.

Almost two hundred were detained in Britain last year under

the Prevention of Terrorism Act.

Which of the following BEST fits the above gap? (1pt)

|:| victims
|:| burglars

m suspects

|:| witnesses
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Read the following.

Light rain can sometimes form a that makes it hard to see the

road when you're driving.

Which of the following BEST fits the above gap? (1pt)

[ ] hail

X mist

[ ] frost

[ ] blizzard

7 Read the following.

The man's identity secret while he was helping police with

enquiries.

Which of the following BEST fits the above gap? (1pt)

|:| is kept
E was kept

|:| has been kept

D had been kept

Read the following.

You a ghost; it must have been your imagination.

Which of the following BEST fits the above gap? (1pt)

E can't have seen
|:| must have seen
D might have seen

D shouldn't have seen
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10

Read the following.

A: Should we order Mexican or Italian food?
B: | really don’t mind, is fine.

Which of the following BEST fits the above gap? (1pt)

[ ] both
[] none
X] either
[ ] neither

Read the following.

That’s the restaurant in we met for the first time.

11

Which of the following BEST fits the above gap? (1pt)

D when

| which
D where
|:| whose

Read the following.

They can’t make ends meet anymore. They wish prices down.

Which of the following BEST fits the above gap? (1pt)

|:| went
D could go
|:| had gone

would go
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12 Read the following.

If Ahmed hadn’t broken his leg, he to play in the last match.

Which of the following BEST fits the above gap? (1pt)

|:| was able

|:| had been able
D would be able

E would have been able

13 13.1 Fill in the gaps with words from the list below: (There is one extra word.) (3pts)
break / pay / find / commit
A. The sympathetic court had to __find him guilty, but he was sentenced to only 5

years of imprisonment for high treason.

B. A prosecutor must show that the defendant specifically intended to __ commit the
crime that he attempted, and he simply fell short.

C.lwouldn't _ break the law for a friend, but | would stand by him if he did.

13.2 |Fillin the gaps with words from the list below: (There is one extra word.) (3pts)

of / with /to /in

A. The football match came %o an end, and the crowd soon cleared away from the
ground.
B. Noor excels in __ chemistry more than any other subject.

C. The police charged the security guard __ With robbery.
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Do as shown in the brackets.

13.3
A. Read the following, then turn the sentence below into the personal passive. (2pts)

Journalists report that the government has reached a decision.
is reported to have been reached by the government.

A decision
B. Read the following, then rewrite the sentence below using the word in brackets. (2pts)

We could eat now, we could eat later, it's all the same to me. (whether)

It’s all the same to me whether we eat now or later.
C. Read the following, then rewrite the sentence below using the word in brackets. (2pts)

(can’t)

I’'m sure he didn’t fix the car. The engine is still making noise.

He can’t have fixed the car. The engine is still making noise.

D. Read the situation below and write a suitable CONDITIONAL sentence. (2pts)

Abdullah will join the army because he wants to become a soldier.

If Abdullah didn’t want to become a soldier, he wouldn’t join the army.

E. Read the following, then rewrite the sentence below using the word in brackets. (2pts)

| can’t focus on my studies because my little brother is making so much noise. (If only)

If only my little brother (wouldn’t make / would stop making) so much noise.

If only my little brother (didn’t make / stopped making) so much noise.
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Use of Language

Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

Food companies often use to give flavor and color to

their packed foods.

Which of the following BEST fits the above gap?

|:| fiber
|:| nutrition
m additives

|:| preservatives

2 Read the following.

The giant panda is a(an) species due to illegal hunting and
habitat loss.

Which of the following BEST fits the above gap?

|:| danger
|:| endanger
|:| dangerous

d endangered

3 Read the following.

Khaled failed to join college, but it was
because he started his own business and became a successful businessman.

Which of the following BEST fits the above gap?

|:| for certain
|:| for nothing
E for the best

|:| for all | know
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4 Read the following.

Khalifa provided a detailed description of the criminal because he was the only
who saw the crime.

Which of the following BEST fits the above gap?

D victim

[ ] robber
witness
[] suspect

5 Read the following.

The students carried out a scientific to determine the

impact of salt water on plant growth.

Which of the following BEST fits the above gap?

|:| trial
|:| effort
[] attempt

X| experiment

Read the following.

The government imposed a heavy fine on the factory for disposing of

toxic into the river.

Which of the following BEST fits the above gap?

X waste

[ ] change
[ ] erosion
[ ] pollution

Grade 12 2023/2024 (Use of Language ) pg. 87



S 2N xR, E

¥ Y, ¥ Y,
& BEST Y § BEST %
§ Bal 3 § ol %
Y, BEST & %, BEST ,f
JJJJ;,»*‘L@& 4"JJ:,s*a.k‘-‘ E

7 Read the following.

Salem have failed the exam because he prepared hard for it.

Which of the following BEST fits the above gap?

E can’t
D mustn’t
|:| needn’t

|:| oughtn’t

Read the following.

The new smart watches sold yesterday at discounted prices.

Which of the following BEST fits the above gap?

[ ] are
| ] had
X were
[ ] have

9 Read the following.

Hamad nor Tamim will join the school team this year.

Which of the following BEST fits the above gap?

[ ] A

[ ] Both
D None
|Z Neither
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10 Read the following.

| wish | better for the championship last year.

Which of the following BEST fits the above gap?

D can train

D would train
|X] had trained

D have trained

11 Read the following.

That gentleman, beard is cut short, is a famous doctor.

Which of the following BEST fits the above gap?

|:| who

D which
E whose
|:| where

12 Read the following.

Despite his experience, Peter accepted the challenge and

succeeded in the new job.

Which of the following BEST fits the above gap?

L] any
[ ] few
X Jittle
[ ] many
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13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

age/ sooner [/ crime/ pollutants / downpour / environmentalists

A. The sudden_downpour flooded the streets, causing traffic jams throughout the city

B. Many environmentalists organized a protest against the construction of a new
factory that would harm the local ecosystem.

C. When children come of they find out that their parents made great

sacrifices to make them live happily.

D. Those careless students will regret their behaviour sooner or later.

E. The police caught the thief in the act of trying to commit his__ crime

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

to/ out/ with/on/ of

on

A. Yesterday, my friends played a prank me and | got angry with them.

B. Omar was accused __ of stealing money from his close friend.

C. | will check the timetable to find out when the next train leaves.

to

D. Skipping regular maintenance checks of your car can lead serious

mechanical problems.
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13.3

Do as shown in the brackets.

. We will not visit our aunt because she doesn’t live nearby.

(Rewrite the sentence using “if”)
If our aunt lived nearby, we would visit her.

. Salem found his lost keys. It was a huge relief for him.

(Join these two sentences using “which”)
Salem found his lost keys, which was a huge relief for him.

C. If only Saleh would stop (stop) smoking in the room. The smell of smoke
is unbearable!
(Correct the verb form)
D. It's probable that Naser forgot his keys because he’s locked out of the house.

(Rewrite using ‘may’)
Naser may have forgotten his keys because he's locked out of the house.

. After graduating from the Police Academy, Ali and Hamad got jobs in the Traffic

Department.
(Rewrite using ‘both)

After graduating from the ploice academy, both Ali and Hamad got jobs in the Traffic.

. The teacher hasn’t set a date for the upcoming quiz yet.

(Change into passive voice)
A date for the upcoming quiz hasn't been set yet.

. People believe that the new highway will reduce traffic congestion.

(Turn into the passive starting with ‘The new highway’)

The new highway is believed to reduce traffic congestion.
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Use of Language

Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

The police were able to take action and avoid a possible riot.

Which of the following BEST fits the above gap?

|:| prevent
|:| prevented

m preventive

|:| prevention

2 Read the following.

The new executive by sending out the appointment letter too soon.

Which of the following BEST fits the above gap?

|X jumped the gun
|:| saved by the bell
|:| got the ball rolling

|:| went the full distance

3 Read the following.
After the accident, there were bits and of the wreckage spread all
over the road.

Which of the following BEST fits the above gap?

D trial
|:| clear
D short

m pieces
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4 Read the following.

| arrive at my hotel in Doha to find incredible humidity and skies.

Which of the following BEST fits the above gap?

D humid
D blizzard
X] overcast

D thunderstorm

5 Read the following.

The area is plagued by soil and flooding.

Which of the following BEST fits the above gap?

D spill
|:| waste
m erosion

D shortage

Read the following.

The AC would have come during the humid weather over the last

few days.

Which of the following BEST fits the above gap?

|:| of age
X in handy

|:| to an end

|:| into effect
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7 Read the following.

Michel Platini career was ruined by financial problems was on TV

last night.

Which of the following BEST fits the above gap?

D who
D which
D where

X whose
3 Read the following.
Jack isn’t wearing a jacket and gloves, so it be cold outside.
Which of the following BEST fits the above gap?
D must
X can’t
L] ought
D mustn’t
9 Read the following.

the teacher nor the students were satisfied with the test results.

Which of the following BEST fits the above gap?

D Both
D Either

X Neither

L] Not only
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10 Read the following.

Ifl more money, | would buy a new car.

Which of the following BEST fits the above gap?

X had

L] have

L] will have
L] would have

11 Read the following.

| wish | Henry of stealing my wallet. | found it under my bed

yesterday.

Which of the following BEST fits the above gap?

won’t accuse
didn’t accuse

hadn’t accused

X OO

wouldn’t accuse

12 Read the following.

He had only friends who supported him during difficult times.

Which of the following BEST fits the above gap?

little
few

much

X oo

a few
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13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

preservatives / good / clue / suspect / influence / age

A. My grandmother had a strong __influence on my early childhood.

B. The police found a vital clue to the girl's disappearance in a wooded area near her home.

C. He had thought his cancer was gone for __ good but, sadly, this was not the case.

D. The prime _Mminister in the case has committed suicide.

E. This bread is completely free from artificial preservatives

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

out of / on / into / with / for

A. Greenhouse gases combine _ with hydrocarbons to form smog.
B. | was tricked outof 10.000 QAR and the company refused to refund me.

C. | always travel to Spain; this summer | will go to US for a change.

D. Thousands of home buyers were deceived into buying homes at inflated prices.

13.3 | Fill the blanks with the correct form of the words in brackets.

A. The invitees went to the wrong venue, because they had been misinformed (Inform)

B. To avoid _ boredom , OBKS teachers usually apply some modern teaching

strategies in the classrooms. (Bore)
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Answer the following questions

13.3
A. It was mandatory for people to wear masks during the previous pandemic.

(Rewrite using “have to”)

People had to wear masks during the previous pandemic.

B. When the school principal came, teachers were discussing new teaching

methodologies.
(Rewrite using “the passive”)

New teaching methodo|0gies were being discussed when the school principal came.

C. | don't know his address. | can't contact him.
(Rewrite using “If”)

If I knew his address, I could contact him.

D. When | told him that somebody crashed into his parked car, he wasn’t shocked. He

wasn’t upset, either.
(Rewrite using “neither__ nor”

When | told him that somebody crashed into his parked car, he was neither shocked nor upset.

E. | have got very bad sunburn - yesterday | stayed in the sun for long.
(Rewrite using “if only”)

If only | hadn't stayed in the sun for long.
28
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Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

Despite facing financial difficulties, she ........ccccveecrinnennns by carefully
budgeting and seeking additional sources of income.

Which of the following BEST fits the above gap?

[ ] getsthe ball rolling
[ ] goes the full distance
[ ] issaved by the bell

keeps her head above water

2 Read the following.

The.....ccaeuueenne. was caught on camera smashing the car’s windows in the
parking lot last night.

Which of the following BEST fits the above gap?

| vandal
[ ] hacker
[] robber
[] burglar
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3 Read the following.
The e caused by plastic waste is a global crisis.
Which of the following BEST fits the above gap?
[ ] pollutant
] pollution
[ ] polluted
[ ] polluting
4 Read the following.
The chef apologized profusely when the customer complained about the
------ cooked steak in his dish.
Which of the following BEST fits the above gap?
[] in
[] wun
[ ] dis
| under
5 Read the following.
After the oil ......... , volunteers rushed to the beach to clean up the affected area.
Which of the following BEST fits the above gap?
] spill
[[] waste
[ ] erosion
[ ] change
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Read the following.

You can choose either tea ......... coffee to accompany your breakfast.

Which of the following BEST fits the above gap?

or

[] nor
[] and
[] but

7 Read the following.

This is the doctor about ............ccceeuueuenes | was speaking.

Which of the following BEST fits the above gap?

[ ] who
[ ] that
[] which

| whom

Read the following.

She added ............... extra sugar to her tea to sweeten it just a bit more.

Which of the following BEST fits the above gap?

[] few
[] little
[] afew

X| alittle
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9 Read the following.
If | had more time, I ................. my friend in the hospital.
Which of the following BEST fits the above gap?
[] visit
[] visited
[] will visit
would visit
10 Read the following.
[ [T that expired yogurt; now he's feeling sick.
Which of the following BEST fits the above gap?
D should eat
|:| shouldn’t eat
[ ] should have eaten
X] shouldn’t have eaten
11 Read the following.

By next month, all the invitations for the event .................. out.

Which of the following BEST fits the above gap?

[[] aresent

D were sent

|:| had been sent

Will have been sent
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12 Read the following.

Organic food doesn’t contain colour or flavour ..........c.coereecerceeerenens .

Which of the following BEST fits the above gap?

preservatives

additives
[ ]
[]

[]

calories
fiber
13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)
sentenced / nothing / charge / influence
A. Her apology came for __ nothing ; the damage was already done.

B. The teacher's passion for literature had a strong influence on her students' love for

reading.

C. The thief was__ sentenced to ten years in prison for his crimes.

13.2 | Fillin the gaps with prepositions from the list below: (There is one extra preposition).

into / for / on /at

A. They decided to play a prank on__their friend by hiding his phone while he wasn't
looking.

B.The thieves attempted to break _into the house but were caught by the security
system.

C.She blamed her sister _for breaking the vase.
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13.3 | Do as shown in the brackets.

A. People know that Cristiano earned a lot of money. (Change into passive)

B. |travelled to Paris. | spent three weeks there.

(Join the two sentences using the relative pronoun (where)

I travelled to Paris where | spent three weeks.

C. Itisforbidden to use your mobile at school. (Rewrite the sentence using: mustn’t)

----------------------------------------------------------------------------------------------------------------------

E. Sara doesn’t like tennis. Hind doesn’t like tennis, too.

(Rewrite the two sentences suing: (Neither....nor)
Neither Sara nor Hind likes tennis.

16
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Use of Language
Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.
1 Read the following.
The athlete was excluded from the race because he had
Which of the following BEST fits the above gap?
X] jumped the gun
[ ] saved by the bell
[ ] skated on thinice
[ ] gone the full distance
2 Read the following.
All the employees heard the manager’s warnings, his voice was loud and
Which of the following BEST fits the above gap?
X clear
|:| clean
[ ] shine
[] sweet
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Read the following.

After checking the VAR, Earling Haland was found
a red card.

and was given

Which of the following BEST fits the above gap?

[] victim
guilty
D innocent

|:| eyewitness

Read the following.

Some people think that they would die out of
countryside.

if they lived in the

Which of the following BEST fits the above gap?

[] bore

[] bored
[ ] boring
boredom

Read the following.

The consequences __ such failure affect how we think about our moral actions.

Which of the following BEST fits the above gap?

D at
[] on
X of
[] for
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Read the following.
6
The proper use of medicine could lead to severe adverse reactions.

Which of the following BEST fits the above gap?

] in-

[] un-
X im-
[] dis-

Read the following.
in his grandfather’s house in Cairo.

Saif lived most of his

Which of the following BEST fits the above gap?

[ chid
|:| childish
|:| children

| childhood

from the 1t of June.

3 Read the following.
The medical insurance law will come

Which of the following BEST fits the above gap?

[ ] ofage
D in handy

D{| into effect

D to terms with
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9 Read the following.
If only Salah the final match against Arsenal, | really missed him.

Which of the following BEST fits the above gap?

played
could play
would play

had played

X O O O

Read the following.
the missing child was found.

10

Hamad pointed to the park in

Which of the following BEST fits the above gap?

|:| when
[] whom
] which

|:| where

Read the following.
to customize the colour and flavour

11

Some restaurants use

Which of the following BEST fits the above gap?

[j fiber
] additives
[ ] preservatives

|:| carbohydrates
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12 Read the following.
Karim says that we to buy any sandwiches for the trip, his
mother will make us some.
Which of the following BEST fits the above gap?
[[] mustn't
[ ] shouldn’t
X} don’t have
|:| couldn’t have
13 13.1 | Fill in the gaps with words from the list below: (There is one extra word.)
sentenced / permission / attempt / inedible / hardship / overcast
food to its

A. The ministry of health closed the restaurant that presents _inedible

hardship

guests.
permission

B. The organization has been experiencing a period of financial

C. Students aren’t allowed to enter the science lab without their teacher’s
to twenty-five years in prison for trying to kill the old man.

sentenced

D. The criminal was
sky prevented us from enjoying the jets show.

E. The overcast
Fill in the gaps with PREPOSTIONS from the list below: (There is one extra preposition).

13.2
off / up / with / through / without / for

the patients’ medical reports before diagnosing

A. Doctors should go through
the disease.
B. Scientists never cleared up the mystery of the missing islands.
dioxide to form carbonic acid.

with

C. Water can combine
D. Karim bought the same T-shirt for less money. | think | have been ripped off

E. There was an emergency and the rescue team asked us to evacuate the building

e Withouk....... any delay.
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13.3
Re-write the following sentences using the words in brackets:

1. Gasser didn’t establish his own company because he didn’t have enough money. (If)

If Gasser had had enough money, hw would have established his own company.

2. They always park their car in front of my house, and that annoys me. (I wish)

I wish they wouldn't park their car in front of my house.
3. It was wrong of Hamad to speak to the manager that way in yesterday’s meeting.

(shouldn’t)

Hamad shouldn't have spoken to the manager that way in yesterday's meeting.
By the end of this year, the company will have constructed the new marine in Lusail.
(change into passive)

By the end of this year, the new marine will have been constructed in Lusail.

Reham didn’t send the invitations. She didn’t send the emails, either. (neither.... nor)

5.
Reham sent neither the invitations nor the emails.
(whose)

Hady is my best friend. His father is the manager of Hamad Hospital.
Hady is my best friend whose father is the manager of Hamad

(mustn’t)

7. It's not allowed for students to use digital devices during exams.
Students mustn't use digital devices during exams.
16
2023/2024 (Use of Language ) pg. 109

Grade 12


user
Typewritten Text
If Gasser had had enough money, hw would have established his own company.

user
Typewritten Text
I wish they wouldn't park their car in front of my house.

user
Typewritten Text
Hamad shouldn't have spoken to the manager that way in yesterday's meeting.

user
Typewritten Text
By the end of this year, the new marine will have been constructed in Lusail.

user
Typewritten Text
Reham sent neither the invitations nor the emails.

user
Typewritten Text
Hady is my best friend whose father is the manager of Hamad 

user
Typewritten Text
Students mustn't use digital devices during exams.


S 2N xR, E

¥ Y, ey,
& BESTY §RESTY
%, BEST & %, BEST &
JJJJ»*(LK"@. JJJJ»*(LK"@. E
D @1 a3ladl
P

— Use of Language

Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

1 My friend is as he is showing up late for work every day.
Which of the following BEST fits the above gap?
[] jumping the gun
[] showing the ropes
skating on thin ice
[] going the full distance
2 A store detective stopped a suspected who was trying to
escape.
Which of the following BEST fits the above gap?
[] murderer
X shoplifter
[] hacker
[] vandal
3 By eating __ edible strawberries, the children have become sick.

Which of the following BEST fits the above gap?

| in
[ ] un
(] il

[] im
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4 The police officer had a chance to go the traffic accident

report and add some notes.
Which of the following BEST fits the above gap?

[ ] off
[ ] about
[ ] along
through
> | worry about the effect that violent films may have on children.

Which of the following BEST fits the above gap?

destroy
destroyer
destructive

destruction

(1 X [ O

Without , all employees must carry their identity card
with them at all times.

Which of the following BEST fits the above gap?

[ ] warning
| exception
[] permission
[ ] knowledge
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In some countries, boys come at sixteen.

Which of the following BEST fits the above gap?

] of age

[ ] tolight

[ ] inhandy
[ ] into effect

8 | called the secretary to | had already sent the email.

Which of the following BEST fits the above gap?

[] who
whom

[ ] which
[ ] whose

Salma’s parents be proud of her. She won the gold medal
in the contest.

Which of the following BEST fits the above gap?

[ ] may
[] could
must
[] needto
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The young man confirmed nor denied the rumor.

Which of the following BEST fits the above gap?

[ ] none
[] both
[ ] either

| neither
11
The students don’t have knowledge about global warming.
Which of the following BEST fits the above gap?
much
[ ] some
[] many
[] alittle
12 If only they you for advice before they started the project.

Which of the following BEST fits the above gap?

[] ask

[ ] asked

had asked
[] couldask
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13 13.1 |Fill in the gaps with words from the list below: (There is one extra word.)

additive / shortage/ hail / ripped off /consequences /innocent

A.The _hail fell from the sky damaged the cars that were not under the
carport.

B. The accused old lady was found innocent of all the charges and was
released.

C. Because of the water __shortage , farmers can’t irrigate their farms every day.

D. Turmeric is commonly used as a natural _additive  to change the food color..

E. One of the consequences of global warming in mountain regions is

increasing risk of infectious diseases.

13.2 | Fill in the gaps with prepositions from the list below: (There is one extra preposition).

on /up / with / for / into

A. Greenhouse gases combine __ with hydrocarbons to form smog.
B. The man was arrested _ for spying on military sites.
C. Mark fooled people _into thinking he was a really good musician.

D. She tried to clear _up __ the misunderstanding that created the conflict.

13.3 Do as shown in the brackets.

A. Join the following sentences using the word given in brackets:
1. | talked to the taxi driver. His car was blocking the street. (whose)

I talked to the taxi driver whose car was blocking the street.
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B. Rewrite the following sentences using the words given.

2. You can watch a documentary. You can watch an action movie, too. ( either...

or)

You can watch either a documentary or an action movie.

C. Read the situation below and write a CONDITIONAL SENTENCE.

3. Il won't go out tonight because | have a lot of homework.

if Ifl1didn’t have a lot of homework, | would go out tonight.

D. Rewrite the following sentences using the words given.
4. It is unnecessary to enter on any detailed description of your plan. (needn’t)

You needn’t enter on any detailed description of your plan.

5. Sara didn’t turn off the lights before leaving the house. (should have)

Sara should have turned off the lights before leaving the house.

E. Put the following sentences in the PASSIVE FORM.
6. The policeman has arrested the burglar after a two-hour chase.

The burglar has been arrested after a two-hour chase.

7. You must switch off the air conditioner because the room is freezing cold.

The air conditioner must be switched off because the room is freezing cold.

16
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Use of Language
Directions: In this part of the test, you will answer 12 vocabulary and grammar questions.

1. Read the following.

The swimmer was warned as he ___and started the race before hearing the signal.

Which of the following BEST fits the above gap?

X jumped the gun

skated on thin ice

was saved by the bell

kept his head above water

2. Read the following.

He was to 15 years in prison because of robbing the central bank.

Which of the following BEST fits the above gap?

tricked

blamed

accused

X sentenced

3. Read the following.

| don’t like throwing out food, but those chicken sandwiches were edible.

Which of the following BEST fits the above gap?

X in-
_l im-
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Read the following.

The students were happy to take a selfie with a

yesterday.

Which of the following BEST fits the above gap?

X

conserve
conserved
conservation

conservationist

Read the following.

The evidence that

proved that the man was innocent.

Which of the following BEST fits the above gap?

X

came of age

came to light

came to an end

came into effect

Read the following.

1

on me.

My parents don’t want me to hang out with my cousin Wael; they think he has a
bad

Which of the following BEST fits the above gap?

X

effect

result

influence

consequence
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7. Read the following.

| love listening to my grandfather narrating his experiences as a zookeeper.

Which of the following BEST fits the above gap?

X| many
much
a few
a lot
8. Read the following.
You these sandwiches! There are many perfectly good cafeterias

here in Qatar National Library.

Which of the following BEST fits the above gap?

X | needn’t have brought

couldn’t have brought

wouldn’t have brought

mightn’t have brought

9. Read the following.

Ifl my father’s car yesterday, | wouldn’t have taken Uber.

Which of the following BEST fits the above gap?

had

have

X | had had

have had
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10. Read the following.

The university the Nobel Prize winner visited is a prestigious one.

Which of the following BEST fits the above gap?

who

when

X which

where

11. Read the following.

Very few students took part in the competition this year. They should
about it earlier next year.

Which of the following BEST fits the above gap?

inform

X be informed

have informed

have been informed

12. Read the following.

mom or dad is going to pick Ahmed up from school, it doesn’t matter.

Which of the following BEST fits the above gap?

Both

Either

Neither

X Whether

" —
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13 | 13.1 Fillin the gaps with words from the list below: (There is one extra word.)
exception - fail - guilty - sympathetic- pranks
A. Rasid feels _ sympathetic toward his friend’s loss and paid him a visit
B. The suspect was found___ 9uilty after the police checked all the surveillance cameras
C. All employees, without exception must attend the mandatory meeting
D. Don’t play __pranks on your friends, they may feel embarrassed in front of people

13.2 Fill in the gaps with prepositions from the list below: (There is one extra preposition)

up - through - from - off - with

a lot of new challenges during covid -19

We had to cope__ With
through vyour essay, | discovered three grammar mistakes

Going
There was a hold _up at the nearby supermarket yesterday
The customer was angry because he felt he was being ripped _off by the salesman.

O 0 T P

13.3 Do as shown between brackets
It would have been the right thing to inform your dad about the accident

A.
(Rewrite the sentence using ‘should’)

You should have informed your dad about the accident.
B. Hamad is a new colleague. | went for dinner with him last night

(Rewrite the sentence using ‘with whom’)
Homod w1th whom I went for dmner Iost mght, ls a new colleague.

Hamad is a new colleague wuth whom I went for dmner Iast night.
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C. It’s a pity that | didn’t get the required score in the IELTS.
(Rewrite the sentence using ‘| wish’)
| wish .. had got/ had gotten the required score inthe IELTS. . . . .
D. When | told my mother the news, she was not surprised, she was not upset, either.
(Join the sentences using ‘neither ...nor’)
When | told my mother the news, she was neither surprised nor upset.
E. Ali didn’t study hard for the test that’s why he failed.
(Join the sentences using ‘If’)
if All had studied hard for the test, he would havefalled, =~ .ooereeeernnn
F. People said that the robber ran away in a black car.
(Change into Passive Voice using ‘It’)
|t Was said that the robber ran away in ablackcar,
G. I’'m new at this school. That’s why | have no friends.

(Rewrite the sentence using ‘any’)

I’'m new at this school. That’s why | don’t have any friends.

H. I’'m not sure, but | think Ali dropped his credit card in the mall.

(Rewrite the sentence using ‘might’)

Ali might have dropped his credit cardinthemall,
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Use of Language
Directions:

In this part of the test, you will answer 12 vocabulary and grammar questions.

(1 mark each)

Read the following.

Ahmed didn’t know how to use the new device, so the salesman

Which of the following BEST fits the above gap?

[ ] skated on thinice
[ ] was saved by the bell
X| showed him the ropes

D kept his head above water

2 Read the following.

| don’t know where Hamad is. , he could be at the gym.

Which of the following BEST fits the above gap?

[ ] Fornothing

|:| For the best
[ ] Forachange

E For all | know
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3 Read the following.
According to a statement made by a . The criminal had a scar on his
left arm.

Which of the following BEST fits the above gap?

|:| hacker
[ ] suspect
witness

|:| kidnapper

4 Read the following.

The photo took her mind back to memories of barefoot strolls
down dusty lanes.

Which of the following BEST fits the above gap?

[] child
|:| childish
D children

| childhood

5 Read the following.

Over two fatal days, eight climbers died after a fierce hit the peak.

Which of the following BEST fits the above gap?

]  blizzard
[ ] shower
[] cloud
[[] mist
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Read the following.

The new traffic law will come next month.

Which of the following BEST fits the above gap?

[ ] ofage
[] atfirst
|:| naturally

x into effect

Read the following.

The criminal was arrested in connection with the jewellery shop
that took place last night.

Which of the following BEST fits the above gap?

|:| vandalism

[ ] shoplifting

Read the following.

This is Hassan’s brother with | go to school.

Which of the following BEST fits the above gap?

that
who

whom

(1 X OO O

whose
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10

Read the following.

You eat a lot of sweets. It is unhealthy.

Which of the following BEST fits the above gap?

[] maynot
|:| ought not

[ ] would not

| had better not

Read the following.

The suspect didn’t give

information to the police.

11

Which of the following BEST fits the above gap?

lots
much

many

10O

hardly any

Read the following.

A new tent before the next camping trip.

Which of the following BEST fits the above gap?

[]

will buy
should buy

was bought

L]
L]
should be bought
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12 Read the following.
up late last night. Now | can’t concentrate.

If only |
Which of the following BEST fits the above gap?

[] stayed

[ ] didn'tstay
[ ] hadstayed

hadn’t stayed
Fill in the gaps with words from the list below: (There is one extra word.)
(1 mark each)

13 13.1

preservatives / nutritionists / miscalculated / toxic / additives [ trial
A.You can’t imagine the amount of toxic waste that is dumped into oceans

every year.
B. The best way to learn about this program is by trial and error.
C. | found out that | miscalculated the number of invitations | sent. So, |
have to list them again.
in our food, the color is natural.

additives

D.We don’t use any
state that we should follow a balanced diet.

E. A group of nutitionists
Fill in the gaps with prepositions from the list below: (There is one extra preposition)
(1 mark each)

13.2
onwith / for / with / through / up / to
A. The detective was interested in the events that led to the crime.
with robbery.

B. The police charged the security guard
for breaking the law.

C. She was arrested
the meeting we were having before Mr. Faisal called.

D. Let’s go

on with
more criminals has helped to reduce the crime rate recently
pg. 126
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13.3 | Do as shown in brackets. (1 mark each)
1. Qatari farmers use hydroponic farming in Al Kharsaah area. (Rewrite into passive)

Hydroponic farming is used in Al Kharsaa area.

2. Experts think that COVID 19 has become a common disease. (Begin with: It)

It is thought that COVID 19 has become a common disease.

3. If Ali had called me on his birthday, | (be) Would have been happy to go.

(Correct the verb between brackets)

4. | prepared a lot of food for my visitors but they called to say they wouldn’t be coming.

(Rewrite using: needn’t)

| needn't have prepared a lot of food for my visitors as they called......

5. Many people have visited Doha. It is the capital city of Qatar.
(Join using: which)

Doha » which many people have visited, is the capital of Qatar.

are being forwarded

6. Some urgent emails (forward) to the staff right now.

(Write the verb in brackets in the passive form)

16
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— Use of Language

Directions:
In this part of the test, you will answer 12 vocabulary and grammar questions.

1 Read the following.

He decided to by investing all his savings in the stock market.

Which of the following BEST fits the above gap?

go the full distance
get the ball rolling

skate on thin ice

1 X O O

jump the gun

2 Read the following.

Good and regular exercise are essentials if patients are to make
quick recovery.

Which of the following BEST fits the above gap?

[ ] nutrient
X] nutrition

D nutritious

D nutritionist

—

Do not write below this line.
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3

Read the following.

Should we all decorations to show feelings or express opinions?

Which of the following BEST fits the above gap?

[] hack

[] steal

[ ] kidnap
] vandalize

Read the following.

Summer turned brutal; the worst and drought in my life.

Which of the following BEST fits the above gap?

|:| hail
[ ] blizzard

| heatwave

[ ] downpour

Read the following.

Basic food products are frequently available in the state shops.

Which of the following BEST fits the above gap?

in

un

mis

L] O X O

dis__

Do not write below this line.
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Read the following.

I learned to work as part of a team, but it didn’t
through many training sessions.

Which of the following BEST fits the above gap?

[]
X
[]
[]

Read the following.

come of age
come naturally
come into effect

come to terms with

Of the two shops in the village, sold sun cream, so Ali had to buy it

from a nearby town.

Which of the following BEST fits the above gap?

]
[ ] both
]
X

all

either

neither

Read the following.

The police found the box the gang put the stolen gold in.

Which of the following BEST fits the above gap?

when
which

where

1 O X O

whose

Do not write below this line.
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9 Read the following.
I wish | to the mechanic. The car consumes too much petrol.
Which of the following BEST fits the above gap?
[] listen
[ ] couldlisten
[] would listen
had listened
10 Read the following.
My daughter got the full mark for her last written composition because there
were mistakes in it.
Which of the following BEST fits the above gap?
X no
[] any
[] little
[[] some
11 Read the following.
He interested in buying a computer to use at home or perhaps, he
is thinking of starting his own business.
Which of the following BEST fits the above gap?
[] can’tbe
[[] mustbe
D] could be
[ ] needn’tbe
Do not write below this line.
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12 Read the following.

The factory to have dumped toxic waste into the river.

Which of the following BEST fits the above gap?

[ ] thinks

[ ] thought

| isthought
[ ] hasthought

12

13

13.1 | Fill in the gaps with words from the list below: (There is one extra word.)

footprint / investigate / overcast / underfunded

underfunded

A. The research program was , o the scientists had to do all their

experiments with limited resources.

B. Solar panels on the roof minimize the hotel carbon footprint

C. The police have been called in to _investigate the murder.

- [

Do not write below this line.
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13.2 |Fill in the gaps with prepositions from the list below: (There is one extra preposition).

through / by/ away/ with

A. The suspects could get away in a stolen car.

B. The manager went through  the document checking the errors.

C. The novel was a success because it combined history with fiction.

13.3 | Rewrite the following using the words in brackets:

A. The jockey was lucky he didn’t break his legs when he fell off the horse. (could have)
The jockey _could have broken his leg when he fell off the horse.

B. |don’t worry about the burglars because there are security cameras. (If)

If there were not security cameras, | would worry about burglars.

C. My cousin is living in a hotel. His house burned down last week. (whose)

My cousin, whose house burned down last week, is living in a hotel.

D. The groom hasn’t set a date for his wedding yet. (Passive Voice)

A date for the wedding _hasn't been set yet.

E. The athlete won the gold medal. He also broke the world record. (not only)

The athlete not only won the gold medal but also broke the world rerecord.

16

- [

Do not write below this line.
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Use of Language

Directions:
In this part of the test, you will answer 8 vocabulary and grammar questions.

Read the following.

Don’t be afraid this kind of fish is to human.

Which of the following BEST fits the above gap?

[] harm

[ ] harmful
harmless
[ ] harmfully

Read the following.

He wants to become an artist, but his parents strongly
-approve that idea.

Which of the following BEST fits the above gap?

Do not write below this line.
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Read the following.

He's by lying to the police.

Which of the following BEST fits the above gap?

D jumping the gun
| skating on thin ice
D showing himself the ropes

D keeping his head above water

Read the following.

problems directly affect the quality of people’s lives.

Which of the following BEST fits the above gap?

D Environment

Environmental

D Environmentally

[ ] Environmentalist

Read the following.

All employees without must carry their identity card with

them at all times.

Which of the following BEST fits the above gap?

[ ] trace
exception

[ ] knowledge

D permission

Do not write below this line.
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Read the following.

Before publishing a book, authors typically have to go

multiple rounds of editing.

Which of the following BEST fits the above gap?

[ ] ahead
[ ] onwith
g through

[ ] along with

Read the following.

We can buy the TV and the DVD player for our new flat.

Which of the following BEST fits the above gap?

|:| neither

Read the following.

waste poses serious health risks to humans and the

environment.

Which of the following BEST fits the above gap?

[ ] carbon
[ ] llegal

Do not write below this line.
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9

10

11

Read the following.

The scientist has techniques which he can use to determine
his product.

Which of the following BEST fits the above gap?

[ ] any
[] lots

. much
Y| afew

Read the following.

That’s really a dreadful noise. | wish It

Which of the following BEST fits the above gap?

[ ] stops
[ ] canstop

D is stopping
would stop

Read the following.

My friend Caroline, is Scottish, always tells funny jokes.

Which of the following BEST fits the above gap?

| who

which

where

1 00 [

whose

Do not write below this line.

Grade 12  2023/2024 (Use of Language )

pg. 137



W Ry S 2N
< \

§BESTY § BESTY

(L1

% SEST & Y, BEST §
Yy U
12 Read the following.
Ali gone to the butcher’s on the way home, but he forgot.

Which of the following BEST fits the above gap?

[ ] mustn’t

[ ] Shouldn’t
[ ] wasableto

X| ought to have

13

A Fill in the gaps with words from the list below: (There is one extra word.)

For all | Know / for nothing / membership / erosion/ mist/ childhood

1. Yousef lost his __membership card, so he had to ask at the gym for a new or

2. For agriculture, the most significant result of accelerated soil erosion

reduction in productivity.

3. Don't pay attention to her, he always cries __for nothing

childhood

4. She spent most of her on a farmin texas.

5. The morning _Mmist had lifted and the sun was starting to come
Through.

Do not write below this line.
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B Fill in the gaps with prepositions from the list below. (There is one extra preposition)
into / by / in / with

regular exercise.

1. | think you should combine a healthy diet with
into  effectin June.

2. The wage increases will come
3. The police are interested __in the events that led to the accident.

C A. Put the following in the PASSIVE VOICE.
1. By the end of the year, the mayor will have built a new sports centre in our town.

A new sports centre will have been built in our time by the end of the year.

2. The teacher is showing the new students round the recycling plant at the moment.

The new students are being shown round the recycling plant at the moment.

B. Read the situation below and write a CONDITIONAL sentence.
3. He is afraid of heights so, he can’t travel by plane. (if)
|f If he weren't afraid of heights, he would have traveled by plane.
C. Join the following sentences using the given RELATIVE PRONOUN.
4. Mary works in our office. Her husband is a civil engineer. (whose)
Mary, whose husband is a civil engineer, works in our office.
(which)

5. Mountain gorilla is one of the most endangered species. It lives in Africa.

Mountain gorilla, which lives in Africa, is one of the most endangered species.

D. Rewrite the following sentences using the words given.
(either ... or)

6. We can pay in cash. We can pay with a credit card.
We can pay either in cash or a credit card.

Do not write below this line.
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